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Expanding Brackets - Lesson 2

Expanding a Pair of Brackets

LT

e Expand brackets of the form (x + a) (x + b).

SC

e Collect like terms together.

Jan 10-12:11



Expanding a Pair of Brackets (2 Linear Binomials).notebook June 28, 2017

Example 1

Expand (x + 4)(x - 5)

/ \\

(x + 4)(x - D)
g/
- bx 4x - 20
X

- 20

FOTIL

x2—

Method 2 (Grid)

Expand (x + 4)(x - B)
X -5

2

X X/ -bx

L4 L4 x //;o
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Example 2

Expand (Q - 9)(Q - 7)
Method 1 (FOIL)

/A N
Q-9@Q - 7)
~—

= Q° - 7Q - 9Q + 63
Q° - 16Q + 63

FOTIL

Method 2 (Grid)

Q -7

Q Q/ ~7Q
-9 -9Q /+63
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Example 3

Expand (r - 11) (r + 4)

Method 1 (FOTL)

A~ > O
(r - 1) (r + 4)

~—"
= r° + 4r - 1lr - 44

r° - 7r - 44

FOTIL

Method 2 (Grid)

11 (—11%/-44
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I. (x +4)(x + 3) 2. 0 +50@p +4)
3. (z+6)z+2) 4. (t +9)(t +5)
5. (@g+3Ka+1) 6. (b+Ixb+ 1)
7. (p +3)p +5) 8. (g +2)g +8)
9. r +4)r +6) 10. (s + 5)(s + 10)
1. @+ 1)+ 5) 12. (u+ 1)} u+9)
13. (@ —S)a—2) 14. (b —6)(b —3)
15. (c — 8)(c —4) 16. (d —12)(d —)5)
17. (e —4)(e — 1) 18. (f—10)(f—1)
19. & —2)x—4) 120. 0 —=3)y—17)
21. (z—5)z —6) 22. (¢t —6)t—8)
23. {u — L)u—2) 24. w—1)(v—06)
25. (@ + 5)a—3) 26. (b+ 7)(b—23)
27. (c + 4)(c —2) 28. (d + 8)(d —5)
29. (x +3)(x —2) 30. 0 +5)(»—1)
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Answers

L(x+A)(x+3)CFrxr12 2,
.(z+6)z+2)+8z+12 4,

@+3)at+1)+4a+3 6.
@+3)p+5)p°+8p+15 8.
(r +4)( + 6) r*+10r + 24 10,

AN o)t et +5 R
cla—SNg—2)o-7a+10 14,
. (c—8)(c—4)c"-12c+32 16.
.(e—4)e—1)e*-5¢+4 18.
. (x—2)(x —4)x*-6x+8 | 20.
. {z2—0Ng—6)-1uz+30 22.
N(u—D—2)-3u+2 24,
.(@+5)@—3)+2-15 26.
JAe+4)e —2)+2c-8 28,
« kT IPR—2)i+x-6 M

0+ 5@ +4) v+ oy+20
(t+9)(t+5) t°+141+45
B+7)b+1)p +8b+7
(g +2)g +8)q+10q+16
(s + 5)(s + 10) s+ 155 + 50
(u+Dm+9) +10u+9
(b —6)(b —3) b*-9b+18
(d —12)(d — 5)d*- 17d + 60
if —10)f— 1)1 - 11f + 10
y—3)(y—7)y-10y+2
(t —6)(t —8) +°-141 + 48
v—1DE—6)v-7v+e

(b+7)(b—3)b°+4b-21
(d + 8)(d—5)d" +3d-40
+S5)y—1)y+4-5
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